—xAEERX<ax " 2—b=0/84—>> No.l1
1. RO ZRIFBREEE RS0, (6) 22+ 23 =198

(1) 222-312=0

(2) z2-81=0

pia

(3) 422 —676 =0

(4) 422 +6 = 262

.

(7) 22 —-29=123

3

(8) 222 —184=0

(9) 222 -136=0

.

(10) 22 —-29=235

i




—RARRX<ax " 2—b=0/84—>> No.2

1. RO ZRIFBREEE RS0, (6) 322 —564=0

(1) 42% — 26 = 658

.

(2) 322422=184

s

(3) 422 -352=0

(4) 322 —30 =321

%

(5) 22 —-29=123

/S

(1) 222 +1 =161

3

(8) 422 —736=0

(9) 322 -294=0

.

(10) 4z% +12 = 208

i




—xkAEEX<ax " 2—b=0/84—2>
1. RO _IRFBEAEME /230,

(1) 522 —-160=0

.

(2) 322+ 13 = 445

s

(3) 222 -48=0

(4) 422 — 448 =0

%

(5) 522 —300=0

No.3

(6) 32%+29 =164

.

(1) 224+3=101

.

(8) 322 +22=184

(9) 322 —23 =220

.

(10) z®2+1 =137

m




—xkAEEX<ax " 2—b=0/84—2>
1. RO _IRFBEAEME /230,

(1) 22+1=137

.

(2) 522 —225=0

s

(3) 222 -242=0

(4) 42> —2 =158

No.4

(6) 222 -136=0

2

(7) 32%+13 =445

.

(8) 3z%2—-3=2345

(9) 422 +11 =395

.

(10) 322 —10 =233

m




—xRARRX<ax " 2—b=0/84—>> No.b

1. RO ZRIFBREEE RS0, (6) 52% —20=2835

(1) 422 421 =597

.

(2) 522 -940=0

s

(3) 422428 =784

(4) 5z% +25 =345

%

(5) 322 —-3=345

2

(7) 522 —225=0

3

(8) 322 —16 = 476

(9) 3z%+20 =425

.

(10) 22 —12=124

i




